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Newton
(A) (B) P=101.3kPa
Ya VB

Iny, =(0.8517-0.7738- X,) - (1- X,)? InP? =17.5977 - 4383.0/T
Iny, = (0.4648+0.7738- (1- X,)) - X,’ InPY =18.1621-5054.0/T

337.7K 373.2K

XA=O.1
xa=0.1,0.2, 0.9
Excel
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REAL T, NEWT, F, DF
REAL XA, YA, RA, RB

XA=0.1

WRITE(*,*) * XA, YA, T

WRITEC*,*) * 0.0 0.0 373.2"
0.1 0.9

CONTINUE

T=300.0

RA=EXP((0.8517-0.7738*XA)*(1.0-XA)**2_0)
RB=EXP((0.4648+0_7738*(1.0-XA))*XA**2_.0)

CONTINUE
F=C )-(A )-(B )
F O T -> Newton

F=101.3-RA*exp(17.5977-4383.0/T)*XA
& ~RB*exp(18.1621-5054.0/T)*(1.0-XA)

DF=-RA* XA *exp(17.5977-4383.0/T)*(4383.0/T**2_0)

& -RB*(1.0-XA)*exp(18.1621-5054.0/T)*(5054.0/T**2.0)

NEWT=T-(F/DF)

IF (F**2.0 .GT. 0.0001) then
T=NEWT
GOTO 10

ELSE
YA=(RA*XA*exp(17.5977-4383.0/T))/101.3
WRITE (*,*) XA,YA,T

END IF

XA=XA+0.1
IF(XA. LT. 1.0) GOTO 20
WRITEC*,*) " 1.0 0.0 337.7"



STOP
END

[ | Euler
x=x0 y=y0 dy/dX:f(X . y)
X h

ay _ Y-V _ Yi— ¥ _ g
X X=X, h

(XHYi)

Yia=Y +h-f(x,y)

dy/dx = 1-3y
x0=0.0, y0=0.0

H
X 0.0 3.0

23456

REAL H

REAL X, Y, ANS
REAL X0, YO
INTEGER 1

WRITEC*,*) "INPUT H="
READ(*,*) H

WRITEC*,*) " I, X, Y, ANS*

X=X0
Y=Y0
10
ANS=(1.0-EXP(-3.0*X))/3.0
WRITEC*,*) 1, X, Y, ANS

1=1+1
X=X+H
Y=Y+H*(1.0-3.0*Y)

IF(X. LE. 3.0) GOTO 10

STOP
END

12.5 m® 0.050 m®/s 1.2 md
t= 0.0025
x t m¥/s




